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The equation of the sphere with center Aozl 38 e 318,501 dslas
(2,-3,4) and touches xy — plane is : SN (6 gad! 3 (£ YY)
................... Lfa 0P

@ =22+ +3)°+@-D?=4 | e rrort-0 O
® =2+ +3)°+(z-4*=9 "t-er et - @
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The equation of the plane passes through 32l HW (g grnadl Dslas
the point ( 3,4, 5) and parallel to the Goe Sy (0t )

coordinate axes X,V is: ............ | cceoeeevieenenns 202 oSl

@ x+y=7 ® z=5 WACORENTIO)
© x=3 @ y=+4 SCAONEREIAC
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n Answer one of the following two items:
(A) ABC is a triangle in which A(2,3,1),

B(3,54), BC=(-1,4,0)
Find: (1) m(LABC)

(11) The direction component of
AC in the direction of AB
(B)IfA , B , C are three adjacent edges in
a parallelepiped such that: A= (1,4,2)

B =(-321),C=(-1,14)

Find : (1) The volume of the parallelepiped

(ii) The height of the parallelepiped
drawn on the base determined

by the two vectors A , B,
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\ . \ .
In the expansion of (X* + )", If the O 13 0(7 i) 3585 B
coefficent of the fourth term equals the Jolas 6 5\l - JA{JRVS BV VS
coefficent of T ,, then the value of . = - A OB Lae SJBL sl
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B r2-(24,6).5=0,k,3)such that Cetor)= T oSy
kezt and||AB||:7, then the value of o Dd e (Y .)=:
k=...... | =343 06 v=|| TF|| 0%

® 10 ® s '@ 0
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The length of the perpendicular from (V¥ ¥) il oyo p guryall 39001 J 5o
the point (2, 3, 1) to the plane : o= eV - o Vs JI
2x —2y+ z=>5equals ......... length unit Jobo Baomg s S5l

@1 @2 v@ \@
@3 @4 i@ \*@
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Bl Without expansion the determinant , POl el saoal) 8 0 50y
Prove that : ooy
1 1 1 > < |
a b c|=MmB-a)c—a)(c—D) PO
a’* b* c*
(w->)->)(P-0) =
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Bl 17 - (143" and |2 =3, e T )2 oS 1l
then the principle amplitude for the number | 1 LY 1) 01 A= | &] 0
Zequals oo PRURTAN!
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In the Cartesian plane xy if § is the measure | 08 131 j2 v SV 6 sl 3

of the angle between 4 and B , 050 © T onisl 3
then IAxEB Il _ ... | = xF ||
AeB ] v, = SR
< !
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Find the term contains x* in the expansion
1 : .
of (x? — = )12 according to the descending
power of x, then find the ratio between the

coefficient of this term and the middle term.

for s el asdl aa s
v\ R
) e g
a3 AW 5

aodly dsdl s Jelae o il
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Find the different forms of the equation of | ¥slae)  ddksdl sl sl
the plane passes through the point (2, — 1, 0) | (= ¢ V- ¥) daidly Hll g gial)

and the vectort = 41 + 107- 7k B V—~P N\ + Tt =0 asadly
is perpendicular to it . Ads (83508
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(14 w)” = a+ bw such that a and b are e O+ ="(@+1) 8 13)
two real numbers, then (a,b)=....... | =0 P) 9l sl glsas o
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Find the different forms of the equation of | da3J) slasd dakesal ) guall sl
the straight line passes through the point (V-evey) daidl Ll i)
(3,2, 1) and makes equal angles with the | Slalos¥l xe & sluze bl a5

positive directions of the coordinate axes . DY gl d gl
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Solve the following system of linear
equations using the inverse matrix:
2z—3y =7,y+5x =4,
x—2y—z=1

plasly AW e sl el
B ol Sl

(b= wot o V= ov-E¥
V=82V
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A - 4 person committee is to be formed e oy 02l € e dind o S0l
out of 9 men and 3 women. The number of | 1 ol sae 3B el ¥5 Sy 4
committees contain only one woman = ....... | ... 92 Jaid 5us1 5 51 el e g g0

3 9 3 9 A ¥ A ¥
@ C, +°C, @ C, x"C, rux\u@ ru+\u@>
3 9 3 9 a v 3 v
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The equation of the straight line passes oty W) el Dslas
through the two points A(2,1,-3), (0-cva)) o e (Y-crev)?
B(]-;Z;_S)IS. ......................... k;@
@ r=(-1,2,-2)+k(2,1,-3) (v-‘\‘v)iSJr(v-‘v‘\-):F@
@ r=(1,2,-5)+k(2,1,-3) (v-‘\‘v)ﬂ+(o_‘v‘\)=7@
@ r=@3,2,4)+k(-1,1,2) (v‘\‘\-)ﬂ+(£‘v‘r)=7@
@ 7=(2,1,-3)+k(-1,1,-2) (v o) St (r-a-= ()
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Answer one of the following two items: + OGN (3G yBaN (Gl | (e
(A If Z = %, then find its cubic roots % =& o8 131 (0)
. . o —
in the exponential form. sl EaS | dadl g

B) I +y)(1-30) =37 | ==+ —— || 285,01 e 5

—4w?  7+4w? ’
, find the value of each of the real (¥ =) (e o+ ) 08 131 (%)

\ \
numbers x and y . (*a)£+v+ YD,

P o or JS ded sl
Ui Jlots o0 o

YV =
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